| | |
L X=564000 |_| |_| |_|
i
<
- <)
_
L X=563000 -+ -+ -+
S\
(]
5 mh«
W (® B
LIOK
OOy
ClOIOIPIA
Yeele)
OlONOIAHOIO
L X=562000 —+ —+ 2 OOIOIOKRIOID
leee%eeeee
\OIOIOI0I0IO % w “
O O|OI0|I0IOIER|IATRD
aOOM@ AINOIOION
VIO 0BIONIOD
XOIOIOIOICIOMNCK
NOOIOIO
/AN RO S
QIO M
%O O AR i \
DION /.
DO m
QOIS
PIOIOCION
VOO
= = /QWWX
. N\
L X=561000 -+
=
Y/
:
L X=560000 —+ : -+ _ -+
g
2
B ¢ .
* & 1’ s
3. | &
m‘% P .
mnm" : m
3 ~ : =
P L 5 [
y / M )
v.' m%
=
L X=559000 -+ -+
IW =
=<
(.
=
L X=558000 -+ + +
. <C
£ c p
= \O
A
m‘
A = 8 . \ MM
=<
= m <
L X=557000 -+ + -+
=
o)
n_NU <
8 —
= . =
ol .., L &) e
2| 5| 8 2 ks
g 5| 3 5 S &
5| 8|8 L, 88 & _ | E
Cl2leege2g EL2S x5 2 €
2l 5| e >S5 n_mu.mwm 2 2
ew...nlmECMl_.eDnl_C mmq
m ( O ) = L > <
5 2 @EEE Y E@EE g <
- X=556000 m - PS m m |_| <
[} [0
a a
£
o =
e
B
[ e
S__
53 -
CY O
L D 9 ¢
§3 2S5
39 g
S 3 MVA
=3 W
o
N 2 <
o2
.2
— s .
L X=5550¢ m .Hmm |_|
2 3% B!
8 S8 _
o 5'S
@D =
2 35
S E8
2 £3
< m - 3 badbay
- > < < = 54 S 3
@ ® @ ) @ © m..nlu
[ [am [em [ [ o Ce
o (@] (@] (@] o n eS
N N N N N L Nl
@ OO
D
S EH S =
> OO
sededededed ==
L X=554000
n n n
®
(&) <
s SR
A < 4 N
o S
S3 g
i @ s
AUn m ® S
B m _ h_u_Wb m - X=553000
i S <5 s =
Lt 2 Z o |8 @
— - A\ O
U - Qui |S S
= o e =
) — ~ |3 S
= a Qo | =
O = < |0 A
Ll (@) < ©
(40 S
L (- < o — 15
(al T
= S |= 5| c
= al <t I o
= ,aw
@) g
© $lo|el|t
s|2|2 |22
\ ) f K — X=552000

300000

Y=

299000

Y=

Ah Ah

Ah

298000

Y=

297000

Y=

-+ -+ -+ -+ -+
. S— ) =
L -/ T a +
A O@ | N e
mU i M
@%\,
% H
f )
| + +
ed
y P
; s | (]
A ,.
%
m < w
Y
%mw 2 2R
AOO
+5 : - T = T
f £ Y
& m\ | A m
B i * = 2O . '
P ) (P = g
by OO, e
= QRN 2% .
GO0 (GRS AN =
OO0 SOV = <
Eip~s | Qoo %
AN, : ' OO
N o
: i ﬁ \ |- X <
= 3 ) . J o
IO =
: = 3 “;.ﬂntm = —
a8 N~ A\
= 5K LRI =
P s 2) A N |
M7 < = ! | <
: ; A m- ; i
=€ NS 2%
=X -1 JRgICOY ‘
£ SCIX 2 QlOIGIoIO . /
- , DS m OO/ Vo :
§ o [elele ZBIQIOI0N ﬂ
220 0 ele)e) OlOI0I0 : m
\ OlQl|O[O oo e A
= oo \veee= IOIQSOIONCN_/ QIO e
|  ARONOP Selee/e/eu ™ A\ NGO C
Zi pm : DIOIOIOI : O M : ‘
: OO — QleCIO0ON - A “
: m OQO PIOIO Veeeee s : INNAON
= N A7A - OO|OICE g IO, -
Qdﬂv O[O OO0 Olo M CIOOA /-
NOG, _J0O0I0E . «DIOI0IOIOIONION | QIO
o5 eeeee 8 o 2 0/QCIOICIOIAON veees
peeeeee~r eee | & %Md ClOIOI0I0ION ) QIS0
OOOIO0GIAOI0I0OI0 \ @ O|CICRIOIOICICIOIOON . OO0
=000 NCOIOOIO m POI0OICIQIOIOIOIOICUR VOO
k il N=— OCI0ISOIOI0I0IZIOIOX oIS m
DIOIOIDICIH w ICIOIO0I0ICFTCOI0I0 PIODIO
oeevew D10 - VOO eveZeee . VOO
AOI0ICIDIOIG O[O/ S OIOIOIROIOIOIXOIO0 Ael :
= DICICICIDIOIO) S WAYe QAT OOOITIOIOINORN Y LIRCIS) %
oo %@ H OO0 N O0lCIoIQdO %0@0000691 . NOIOID\ m =
) ClOdIOIOPOIDICI0IO0IOCIOR = OO0 Oomoeoo OO0l 0
: RQAOIOPIO T : OlOIOIACIOIAODINOIOIORNICISOIOIOION \V@)e SRIOIOS
: NQODO m ; QOCRIOOIGOIOCI0IOIQDIOOIOININ . OO =g OIOKOION
M CIS&S] < O\ Qe | T QORI
DO HOCO~ ) My @eleeeewe
m S TOOI0I0IQI0ISH DIACOIORISKTICIK
- Qooo% SSO0|0|O - @%600@9@90&
SOlI00 < > NOSSOCI00ICI0I0ICI0I0 QOOIOIAOIOIOION:
NOKIo ' Z0000ICI0ICICICI0I0[0[O DRVDOOICIOIRDIDIOIORON
= -  AOI0ICI0CICIOI000[0IgIE NQOIOTIOIQADICON
+ : = — = piyeeeeeeeeercu@: XN\ NACOSBGIOGOOOQIDRN L, +
—_ ooplOOF 1\ L =@O0NIGIOIONPIOI00/0I0I0E -\ RIODIORISKIANOICIADIO|
Woo Tee Y v rd/ceeeees e vJeee = CIORICIOICIOITOROITHO]
OOI0eir~ 20D OlORICIOINOIO0ICE " NGEOIOICIOOBOGI00,
A0I0RIOS ACIO OlONCICISETO OPICIOIO0ICICI0ICIO|
! yeole e <eeees e Neeee\ NOOINCIOOOITSAOIODIO
LI0OPIOIPIOASTIOIRICIDITOIOOO HNOINCICISEOOIDICIOION
o%@ SOONCIOIAOICIROIOIOIO VA= e elveeeeEee= s\
u OPCICACICIOINIOCIOIOICIOS m eeeeeHseee
60@%060 OldQcEeNO& //@Qmoo eV
2010\ * AOIOGDICIAIOIRICIOIORIOCIOIONIO ORISOIOIOIAIOI0),
AOICIC1A AIOIOIDIROOINCIOORICIOIO NOIRIOCIOO|OICIAIOO|:
. LOOI0I0ICOICIOBACIOIRCOIOCIOIR== \QOXICIOOISOO
LIOICIOI0IZOICIOIOICIOICIE =" QIAOICOIOIOION
OlO|ICICIOICIOIAI= OIOICICICIOION -
- clojoloalps=="". KOIDOOCIOIOIA
= < MIACIACICIOI0IOT
e~
-+ -+
-\
-
+ -+ -+ -+
m|S|8|8|8|8|8|8|8]|38 1 €
“B LG 2|88 |s 8|88
S| 8|8 |58 |8 ||| &
K |o|eleleleleoe|e
-+ -+ -+ -+ -+

Ly =

296000

Y=

Nh

Nh

295000

Y=

_|_

Nh

Echelle : 1/10000

Partie sud (lieu-dit "Le Bouchet")

X=3564000—

X=3563000—

X=562000—

X=3561000—

XE560000

* X=559p56—

X=5358000—

X=357000—

X=356000—

X=3555000—

X=5354000—

X=533000

X=5352000—




